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3 1.7 2.8 1 0.0 0] 213] 1716 42
4 7.3 25 |1 0.15| 238| 2117] 42
5 1.5 28 | 1 002 11t] o718 41
6 8.3 2.4 1 0.15] 209| 45| 43
1 1.3 25 |1 0.10] 238| 81| 43
8 6.7 1.8 | 1 0,02 47| 42| 44

9 1.4 2.5 | 1 0.01| 52| o9 | 44 -
Lo 1.0 2.4 | 1 0.06| 1.68| 37| 42
11 6.9 2.4 | 1 0.0 1 - L20] 41
12 7.8 3.4 | 1 0.15| 210 208 44
13 1.3 3.0 | 1 .05 1L65| 149 43
14 1.0 21 | 1 0.10| 1.88( 163 | 42
'S 8.0 3.7 1 0.05f 1.72) n41]| 42
16 8.4 42 | R B - - - i5
17 8.4 4.0 1 0.150 2201 200/ 44
18 8.0 3.2 1 0.10f 218{ 170 43
19 1.6 3 | 1 0.1 4] 219 nss]| 43
290 1.3 2.4 | 1 0.05| 162] 151 | 46
71 6.7 1.9 1 0.05| L71]| 140 44
22 1.9 3.1 1 0.05] L719| 136 43
23 7.8 4 | 1 0.20] 250] 224 43
2 4 1.0 2,3 { .10 ro4] 181} 44
25 7.1 24 | 1] . 0.02] 128| L16| 46
26 1.1 2.4 1 0.07| 1.74| 1L74]| 45
27 6.7 LY | X 8 - = - 43
2 8 1.4 30 | 1| 0.15] 24t 207 43
29 59 L0 [ R B - - -~ 43
39 6.7 20 | 1 l 0,04 165 n3of| 44




(10H198)

B & R & W | # % | 4Rp| & m R ni
g2 | = fr | 8] 9 | Witgr | £m | #im *
1 8.4 5 | A B = = =l 9%,
2 8.7 41 | ® m - | =1 =1 43
3 | 108 7.6 | 1 oio | 183] 1851% €2
4 9.8 6.2 | 1 0.15 | 228| 204/ 44
5 9.4 5.6 1 0.14 | 224| 180/ 42
6 | 105 1.4 | 1 0.08 | 1.92| 168 45
7 9.5 5.6 | 1 0.05 | 1L47| 136/ 45
8 9.3 48 | & 8 - - - 44
9 8.0 31 | X 8 - - - 42 |
Lo 9.8 5.8 | I 0.10 | 232| 174 45
11 8.5 £2 | 1 0.01 | 11| o088 42
12 8.6 L9 | ® B - - - 43
13 9.0 41 | & B - - - 40
14 9.3 18 | 1| 0,05 | 52| 125| 43
15 9.0 48 | & B - - - 41
16 88 41 | & B - - - 43
L7 9.8 6.8 | 1 0.25 | 248 205 43
18 9.6 34 | KX B§ = = = 43
L9 9,6 5.1 1A 008 | 1,83 | 148/ 45
20 9.2 5.1 1 011 | 235| 153/ 45
21 9.3 5.3 1 010 | 180 174 43
22 8.7 31 1 0.0 5 1.8 8 1.4 5 45
23 9.1 L6 & B = - = 45
24 8.4 5 X' 8§ i - 44
s 9.2 50 £ By - - o 45
16 9.8 7.4 |1 20 | 240 200 42
27 8.8 v 1| 002 | 129 L15| 43
28 8.3 32 R OH - B - 44
19 9.3 L1, X! g - - — 14
10 8.4 L2 | A - - - 42

-




& 4-3 444E NFIF AT SHMKEHH (b LnmFHgick 5 )

B Bl & ¥ | thimek| £ X B i [(»22F49y £ o
e 1088 810000 s10000' _ kg
5 129 | 1998690 | 1998690 -

6 154 32846896 [3.846896 -
7 188 [534n123 |s534n123 -
8 167 | 4248916 |4243916 |so000¢asva)
9 181 | 4484815 [4484815 -~
10 86 877190 873190 |4000(a/>m)




